EARAROBEEIERT — 2 N— IBISH —F 2012427198 (B) 1EXR=8H

R 5% 3/ KEF (GBS [HET] S ‘ (Xfg] B ‘ [REmshE]  — |2 (B) 16000 B
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S _ ZHER :35. — . . A (EH)
1lgligl vz v=— 4 3 =0 1(3_5)6 16-15 | 34.1| 86.6 | 8 (4_26) H?ﬂ*ﬁl
R:F272800 BY=Z—HA KTy T HE77—»4L
= L e 1BKHh— :35. — . . BEFE (EiR)
oY1 7V kEEY "3 50 o R R e ?f; TS
L:2=/XLLy s B:79L4H HET77— L
= ¢ HHE :35. - . . MHAEE ((#
3 6| 7ITIA> it 3 e 1(/33? 9-7 34.6| 86.4 | 4 <4+426) E”é‘fu;
RZAZXHT R B RNALT B IE
a1 onFese f 3 gi*éta 1:(336).1 9-11 | 34.9]81.2 | 9 (4:; Eﬁié@% (=)
LT IIWR—IN— By A L TIVE—-F X F& R4S
5 jt 3 | ENEAE 1:36.1 6-5 35.2| 81.1 | 13 | 456 |FREE (X#)
5/5(10| ¥TREXI 54.0 (5 8) g | W) HITLyKI5T 5747
R:O—Y X444 B:aAXEFz—0O EvJILy RT77—L4
SILT 1) S 3 | H#AE 1:36.3 15-16 | 34.6| 79.2 | 1 4 M (EH)
61714 FANILT) X i 54% (1 1/2) 0 (+?2) ARSIV
XL THANKN B:F v H— b () HAa-KRL—>araEIr
= B3 | BREEE 1:36.4 4-5 35.5| 77.3 | 7 440 | BBMREY ()
7 5| 77VF-% 54.0 (7E) e) | ) TU—>T7—L
L:gA—I>TlbLh B:X=T71hH—+F HET7—L
. o KEFRIR : - HEB®%E (E#H)
8 10| FN—ETZ i 3 e 1(.13;32.)5 1-11 35.2| 77.0 | 5 &2} S
RNy a2—=TO7748— B:T7I /N F KA
S T 43 | ABHN 1:36.6 4-2 35.9| 73.7 | 14 400 | mEEER (EH)
9l7l13lEv 77w b 56.0 (3/4) (-2) I;;é%%‘ﬁl
LZAFAT—IVK B:Oy 7Y B R4S
S [ s 2 HEE :36. = . . B2ILER (EH)
10lsl9 S Sy e =l 4 3 sl 1(33/%7 1-7 35.6| 74.4| 6 (4+722) =D
R:bh—t>&22 B:Y4vXIL)—7 FMEZX %Y K
= Y TN 4 3 | BRES 1:36.8 8-7 35.8| 72.6 | 1 484 | ERER (EH)
111815 ZT X771 > 56.0 (1/2) © |EFEAR-LT T ()
LF1=TALNNT N BT7ANRTITX J=HrTr—L
: =, 3, 43 | =it 1:37.0 13-13 [ 35.6| 72.0 | 16 | 412 |E=HEI E#&)
121112 R AV E 54.0 (3/4) -2) R HABAER
L:7V%tx B:77ESLAYar "HBET7— L4
N . FTR :37. 2- . . ERR (EH
13 4 ®O—<> 94— % 3 54_07:1 1(337)5 4 36.7 | 64.6 | 12 ;1:1) R e l
A :Holy Roman Emperor £ :Wadud Taihei Stud Farm
- N FisiE :37. - . . HNEERNR (3E7H)
14 8 HIVI T L—> % 3 o 1(13/72>6 1-1 37.3| 64.3 | 1 (4+364) e
R:TIRTLE— B Fh—> BEXZY K
_ . . s — .37, — . . AR (i)
5 NEEEPOC - it 3 o, (11317/:3) 6-7 36.8| 61.8 | 15 12(7);3 i#§
L:7H¥A4FIALANK B:vY<vZoHh—Z/NIL fideEve]
N . FiBEX : - EKEBN (ER)
16 =R P S H 3 L 1.(338).3 2-2 37.7| 58.4 | 3 ff) xmgg
R:F4—=TA2NT~ B:O—-XFK— pzEie ]
@ 71 L
) 47.9-35.3
NA> AL | 12.4-11.2-11.7-12.4-12.6-11.9-11.6-11.8
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= 8(4,7) (5,13) (3,10)15(1,6) (9,12) (2,11) 14,16
40—5+— [8-(7,13)4(5,10) (3,6,9,15) (1,12) (2,11)16,14
[ N3
H OB 16 2,870M 714K 11-16 1,420H e E 6-8 330M RPEL:] 6-11-16 8,390
8 B 16 600 6-16 2,530 B = 11-16 4,460M B 16-11-6 77,1604
1 150 6-11 80| | B B 16-11 13,190
6 240H

ABICOVWTRDTEEERROODE. TR LIV,



